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AT Momentum (18).doc

Directions: Solve the following problems. Show all work, and circle your final
answer. All problems are worth 5 points each.

1) A4 cm diameter 1.3 kg clay ball is dropped from a height of 3 m. It hits the floor, taking 0.083
seconds to stop. Determine the force applied to the clay ball. The direction of the force should be
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obvious in your response.
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“A'red 15 kg cart moving at 5m/s to-the right coliides'with'a 23 kg cart moving at 3m/s to the left. The -

two carts collide in a totally inelastic collision. The two carts are in contact for a time of 0.18 seconds.
(Double jeopardy is in effect in this problem, so be confident in your work and know what to expect)

2) Determine the speed of the red cart after the collision
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3) Determine the speed of the blue cart after the collision
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4) Determine the force acting on the red cart

5) Determine the force acting on the blue cart.
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Ared15 kg cartmoving'at 5Sm/s to the right collides with a 23 kg cart moving at 3m/s'to the-leftiThemo s

two carts collide in a totally elastic collision. The two carts are in contact for a time of 0.18 seconds.
(Double jeopardy is in effect in this problem, so be confident in your work and know what to expect)

6) Determine the speed of the red cart after the collision
e

7) Determine the speed of the blue cart after the collision
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8) Determine the force acting on the red cart
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9) Determine the force acting on the blue cart.
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©710) Acar traveling-east at 20 /S coilidesin an inelastic collision with a truck; 3 times the‘mass of the = — >+ =
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car, traveling north at 15 m/s. Determine the velocity of the two after the collision. (Hint...remember the

difference between speed and velocity)
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